
Q : what does fo E . ds measure ?

A : Work
.

↳ ie. the tendency of E to push a particle along C
.

Why ?

First : rewrite f E. ds :

f.F. DI = fab ECI HD . I ' A)dtc
scalar for each t
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Recall projection : pro
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Thus :
y
from before

£ F. DI = f E. Tds

=

So : to compute work done by force field F in moving a particle

along C ,
compute f. E.d5 .

Note : If - C is same curve as C
,
traversed in opposite

direction
,

£
,

E.DI =

"

sum
"

of E .I along C

= cumulative tendency of E to push in dir . of C

=work .
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